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1. Answer the following as directed : 1x8=8

(a) If the slope of the consumption
function is equal to 1, then the
multiplier will be

(i) zero

(ii) 1

(iii) infinite

(iv) None of the above

( Choose the correct option )
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(2)

e S
optimal? frRent  said o

fc) Whi
ich of the following is not true

abo
ut Harrod-Domar growth model?

) L
u::zu.r and capital are always
0 fixed proportions

(H} LabOur and o

subst_ituteS pital are perfect

(i) Capita]-

out
ratios g Put and labour-output

(iv) Labour force

: row
PToportionate rateg S iatea e

Ch
(' Choose the correct option )

d) A i
acc.:orchng to the Solow growth model
rise in i i
Siadi Ehe Capital-labour ratio, leads
1l output-capital ratio.

( Write True or False )

{e) MenﬁOn ofie

policy, objective of monetary,
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(3)

() Monetary policy is most effective when
(i) IS curve is horizontal

(i) investment is perfectly interest
elastic

(i) Both (i) and. (i)

(iv) demand for money is perfectly
interest elastic

( Choose the correct option )

(g) If fiscal expansion is accommodated
by monetary expansion, which of the
following must occur?

(i) Output increases
(ii) Interest rate increases

(iii) Both output and interest rate
increase

(iv) Interest rate declines

( Choose the correct option )

(h) Mention  one criticism about
Keynesian economics.
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2. i
Write short notes on any four of the

f - - .
ollowing (within 150 words each) : 4x4=16

(a) The_ consumption puzzle

(d) Targets of monetary policy

(e)  Full wa i
: Be€-price flexihil: 1
Implicationg weR and gy

3. (a
(a) l};ﬁ Ii?ltl:stthe rat-io of consumption to
L t?red Saving decline over time
Rk aefment?-What happens to
ok ter ret.xrement? Explain in
¢ light of the life-cycle hypothesis.

Does
e 1_‘_he Permanent income
€sis offer similar conclusion?

_ 5+3+3=11

Or

b
(b) What are the determinants

busi i
s.mess fixed Investmentp S
an mmvention renders m bbo

production techniqu
the economy obsol

of

se
uch of €Xistin

€s in g Secto
r o
ete. What Woul;

( Continue(i )

4. (a)

()
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happen to the stock prices of firms
and to investment in the sector? What

does this tell you about ‘q’ theory?
5+3+3=11

Why is the Harrod-Domar growth
model said to be unstable? What
assumptions make the model
unstable? What additional
assumption can you make so that the

model becomes stable? Explain.
5+4+3=12

Or

Explain what is meant by a steady
state? According to the Solow model,
how would the steady state be affected
if (i) there is a destruction of a portion
of the nation’s capital stock in a war,
and (ii) there is a permanent increase

in the rate of immigration? Explain.
2+5+5=12

Describe the various policies available

to a government to promote economic

growth. How does a temporary rise in

saving rate affect the steady state

position in the Solow growth model?
8+3=111
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(7))
(6)

Or
&" (b) Explain the implications of the
(b) Explain what is meant by endogenous rational expectations assumption for
growth theory. How does the : the  effectiveness of economic
Production function in an endogenous j stabilization policy. How do the views
8rowth mode different from the " of the neo-classical economists
Production function in the Solow .compare to those of the monetarists
R oSske 5+7=11 concerning the effectiveness of
6. (a) Describe the various lag R | agfrf:*gaze Seilene managem;r::zll
the pre. ags that arise 1 policies?

period and  post-implementation !

Why 1 ofja Macroeconomic policy.

usuah;' tge lag of monetary policy | v
Short |

policy? TT than that of fiscal

8+3=11 i

(b) In terms of s " -
explain how €quivalence,
transf X cuts OT incre i

er  payment ase in

saving. What i e €Ct  national
. e ab I
against the Ricargi Criticisms
lan eql-Iiv
alencep

7+4=11
7. {a) How do the KeyneSians :

0
notion of full Wage-price pI:0§e the
Explain  the monetarig; ’éloblhtyp
evolution against the KemeSian:nter

O*5=11
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